[ Efficiency vs vertpos |
~0.05

$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

1.0

Ratio

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom

Effici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
iclend _, DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

~0.05

©.045F -+t freede et RN

[ o . . . . .

20,08t ffe bbb b

oy F . . . : :

X 0lclc| SRR | FUSE A SRR TS SO

© F . . . : :

£0.03- | & REESEEEERES PP PEIE Of ERPIE PR

® E : : : : :

e | SRS IS
9% SN I S 1 I

OXCHT= SRR | O SR SRS 1 EEN SR
0.0+ | £ ; ' :

0.005F -+

P A

I F :

o 1:— --------- M 4 H b -4 - -
0.05F- - b EH R AL R 4]
095530 <10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.0

-10-8 6 -4 2 0 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


